
Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

(MAF)

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

gupe;Jiuf;fg;gl;l tpilfs;

ghl ,yf;fk; : AA32

,yq;if fzf;fPl;Lj; njhopy;El;gtpahsu;fs; fofk;

,y> 640> ntd;. KWj;njl;Lntd Mde;j eh`pkp khtj;ij>

ehNu`d;gpl;b> nfhOk;G - 05

njh.Ng - 011 2 559 669

fy;tp kw;Wk; gapw;rpg; gpuptpd; xU ntspaPL

AA3 guPl;ir - [dtup 2020
(January 2020 Examination - AA3 Level)



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;01

										          gFjp - A
ehd;F (04) fl;lha tpdhf;fs;

(nkhj;jk; 20 Gs;spfs;)

tpdh 1w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;   

	 mj;jpahak; 8 - jdpg;gl;l epjpia Kfhikg;gLjy;

1.	 tho;f;ifapy; cq;fs; epiyikia  kjpg;gpLq;fs;:

	 epjp Rje;jpuj;ij miltjw;fhd tof;fkhd top vd;gJ gzk; njhlu;ghf tho;ehs; 

KOtJk; Kfhik KbTfis vLg;gijf; Fwpf;Fk;. ep&gpf;fg;gl;l nry;tj;ijf; 

fl;bnaOg;Gk; jpl;lj;jpidj; njhlUk;  xU ,sk; taJ egu; jhd; Xa;TngWk; tajpw;Fs; 

epahakhd Kiwapy; ,yf;if mila KbAk; vd vjpu;ghu;f;fyhk;. ,Ug;gpDk;> eLj;ju 

taJ kf;fs; $l epjp Rje;jpuj;jpd; fdit cWjpAld;> Fwpg;ghf ghuk;gupakw;w Kiwfs; 

%yk; mila KbAk;.

2.	 vy;yh gz tplaq;fspYk; xOf;fj;ijf; filg;gpbf;fTk;:

	 epjp Rje;jpuj;jpw;fhd cq;fs; Kaw;rpiaj; jLf;f gy topfs; cs;sd. gyu; jdJ epjp 

jpl;lj;jpypUe;J tpyFtjpy; <LgLfpwhu;fs;> Mjdhy; mj;jifa egu;fs; fz;%bj;jdkhd 

nrytpdq;fis Nkw;nfhs;fpd;wdu;.  

3.	 ftdkhf eltbf;iffisj; jOTq;fs;:

	 epjp Rje;jpuj;ij milAk; kf;fs; jq;fs; gzj;jpy; ftdkhf ,Uf;fpwhu;fs;. mtu;fs; 

Njit Vw;gLk; nghJ kl;LNk gzj;jpid nrytpLfpwhu;fs;. nry;tj;ij cUthf;FtJ 

vd;gJ nry;tj;ij cUthf;FtJ kl;Lky;y> mijg; ghJfhg;gJk; MFk;. md;whl 

nryTfis ePq;fs; Fiwf;ff;$ba top Kiwfisf; ftdpAq;fs;.

4.	 cq;fs; flid nrYj;Jq;fs;:

	 fpnubl; fhu;Lfs; Nghd;w cq;fs; cau; tl;b flid  Kjypy; nrYj;j njhlq;fTk;.

5. 	 cq;fs; KjyPLfspy; gq;F nfhs;Sq;fs;:

	 cq;fshy; Kbe;j midj;J KjyPl;L rhj;jpaq;fisAk; gw;wp mjpfk; mwpe;J 

nfhs;Sq;fs;.

6. 	 ghuk;gupakw;w tUkhd tha;g;Gfis ftdpAq;fs;:

	 xU Gjpa jahupg;G my;yJ Nritia fz;Lgpbg;gJ my;yJ Vw;fdNt cs;s xd;iw 

Nkk;gLj;JtJ %yk; FWfpa fhyj;jpy; nry;tj;ij cUthf;f KbAk;.

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

AA3 guPl;ir – [dtup 2020
(AA32) Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

gupe;Jiuf;fg;gl;l tpilfs;



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;02

7. 	 cq;fs; ntw;wpia cUthf;Fq;fs;:

	 nry;te;ju;fs; jq;fs; nry;tj;ij tpupTgLj;j fzf;fplg;gl;l mghaq;fis (Risks) 
vLj;Jf;nfhs;fpwhu;fs;. mtu;fs; ngUk;ghYk; ,uz;lhtJ thlif nrhj;ij thq;Ftjd; 

%yNkh my;yJ Kjy; cupik nrhj;jpid (Franchise) ntw;wpngw;w gpwF ,uz;lhtJ 

cupik nrhj;jpid Nru;g;gjd; %yNkh ,ijr; nra;fpwhu;fs;.

8. 	 Njhy;tpia epuhfupf;fTk;

  	 kpfg;ngupa nry;tj;ij fl;bnaOg;gpa> mijnay;yhk; ,oe;J> gpd;du; jq;fs; nry;tj;ij 

kPl;nlLj;j njhopy;KidNthupd; vLj;Jf;fhl;Lfs; tuyhW epuk;gpAs;sd> rpy Neuq;fspy; 

Kw;wpYk; khWgl;l njhopypy;. gpd;dilTfs; Vw;gLfpd;wd. Mdhy; ePz;l fhykhf> 

ePq;fs; xU mjpfhug;G+u;t epjpj; jpl;lj;ijg; gpd;gw;wpdhy; epjp Rje;jpuj;ij mila 

KbAk;.

   (nkhj;jk; 05 Gs;spfs;)

tpdh 2w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;   

	 mj;jpahak; 01 - ghjPl;bd; %yk; jpl;lkplYk; fl;Lg;ghLk;

²	 ghjPL jpl;lk; kjpg;gPLfs; kw;Wk; Kd;fzpg;G mbg;gilapy; mike;Js;sJ. Kd;fzpg;gpiz  

xU rupahd njhifahf fUj KbahJ. jtwhd Kd;fzpg;Gfspd; mbg;gilapy; ghjPL 

nra;ag;gl;lhy;> ghjPL jpl;lk; Jy;ypakhfTk; gaDs;sjhfTk; ,Uf;fhJ.

²	 tuTnryTj; jpl;lj;ij jpwk;gl nray;gLj;JtJ kf;fs; kj;jpapy; tpUg;gk;> xj;Jiog;G 

kw;Wk; Gupjy; Mfpatw;iwg; nghWj;jJ. xj;Jiog;G ,y;yhjJ jpwikaw;w nray;jpwDf;F 

toptFf;fpwJ.

²	 fzpdp epu;thfj;jpw;F khw;whf ,y;iy> mJ xU Nkyhz;ik fUtpahFk;.

²	 ghjPL rpf;fyhd kw;Wk; Neuj;ij vLj;Jf;nfhs;Sk; nrayhf ,Uf;fyhk;.

²	 ntt;NtW JiwfspilNa Nkhjy;fs; Vw;gLtJld; ghjPL fl;Lg;ghL epjpj; JiwfspilNa 

NkhjYf;F toptFf;Fk;. xt;nthU Jiwj; jiytUk; tzpf Nehf;fq;fisg; gw;wp 

rpe;jpf;fhky; jq;fSila Jiw ,yf;FfSf;fhf Ntiy nra;fpwhu;.

²	 ghjPL; jpUj;jq;fs; Njit.					   
  (nkhj;jk; 05 Gs;spfs;)

tpdh 3w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;   

	 mj;jpahak; 07 - njhopw;ghl;L %yjd Kfhikj;Jtk;

		  Fwpg;G	 2018/19
,Ug;G ehl;fs;	 1	 85

tpahghu fld;gl;Nlhu; ehl;fs;	 2	 41

tpahghu fld; nfhLj;Njhu; ehl;fs;	 3	 (91)

njhopw;ghl;L %yjd Row;rpf; fhyk;	  	 35



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;03

	 tpw;gidf; fpuak; 	 = 	 tpw;gid - nkhj;j ,yhgk; 

        			   =	 1>750>000 - 496>920

        			   =	 1>253>080

Fwpg;G 01 - ,Ug;G ehl;fs;

	 ,Ug;G ehl;fs;		 =	    ruhrup ,Ug;G		 x    365 ehl;fs;
					     tpw;gidf; fpuak;		
			 

				    =	       (300>000 + 285>000) / 2	 x 365 ehl;fs;
					     285>000 + 1>268>080 - 300>000		

				    =	  292>500   x 365 ehl;fs;
					     1>253>080		
			 

				    =	 85 ehl;fs;		

Fwpg;G 02 - tpahghu fld;gl;Nlhu; ehl;fs;

	 tpahghu fld;gl;Nlhu; ehl;fs;		 =	 ruhrup fld;gl;Nlhu;	 x  365 ehl;fs;
							            tpw;gid		
				  

						      =	 (221>000 + 168>000)/2	 x 365 ehl;fs;
							           1>750>000		
				  

						      =	  194>500	 x 365 ehl;fs;
							       1>750>000		
				  

						      =	 41 ehl;fs;		

Fwpg;G 03 - tpahghu fld; nfhLj;Njhu; ehl;fs;

	 tpahghu fld; nfhLj;Njhu; 		  ruhrup tpahghu fld; nfhLj;Njhu; x 365 ehl;fs;
	 ehl;fs;				   =		  nfhs;tdTfs;		

		

					     =	 (342>100 + 286>800)/2	 x 365 ehl;fs;
						          1>268>080		

		

					     =	 314>450	x 365 ehl;fs;
						      1>268>080		

		

					     =	 91 ehl;fs;		

(nkhj;jk; 05 Gs;spfs;)



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

gpupT  A  ,d; epiwT

tpdh 4w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;   

	 mj;jpahak; 03 - njhlu;Gila fpuak; - jPu;khdk; vLj;jy;

	 &. 

xU Nfhg;igapd; njhlu;Gila fpuak;:	  

Neu; nghUs; fpuak; (126>000 / 1>000 Nfhg;igfs;)	    126 

Neu; $yp fpuak;	  - 

kw;iwa nghUl;fs;	    125 

mr;rply; fpuak;	       36 

nghjpaply; fpuak;	       14 

 	    301 

gupe;Jiu:

xU Ftis xd;wpd; njhlu;Gila nryT &. 400/- vd;w fl;lisapd; tpiyia tpl Fiwthf 
,Ug;gjhy;> fl;lisia Vw;Wf;nfhs;Sq;fs;.

(nkhj;jk; 05 Gs;spfs;)

nra;Kiwfs; :  

Neu; nghUs;:   

   nkhj;j Njitg;ghL (1>000 Ftisfs; * 250/1000)  250 kg  
   ,Ug;G  180 kg  
   re;ijapypUe;;J nfhs;tdT nra;a Ntz;ba msT  70 kg  
Neu; nghUs; fpuak;   
180 kg ,Ug;gpy; cs;sJ (Mo;e;j fpuak;)  -  

 re;ijapypUe;J nfhs;tdT nra;ag;gl;l 70 kg (70 kg * Rs.1,800/ kg) 
       

126,000  

  
       

126,000  
Neu; $yp:   

nkhj;j Njitg;ghL (1,000 Ftisfs; * 18 epkplq;fs;/60)  300 kzp  

nrayw;w Neuk;  340 kzp 

Neu; $ypf; fpuak;;:   
nkhj;j Njitg;ghL MdJ nrayw;w Neuj;jpid tplf; Fiwthf 
cs;sikahy; fpuakw;wJ.  -  

 

04



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;05

										          gFjp - B
%d;W (03) fl;lha tpdhf;fs;.

(nkhj;jk; 30 Gs;spfs;)

tpdh 5w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;  

	 mj;jpahak; 04 - ,lu; kw;Wk; epr;rakw;w jPu;khdq;fs;

nghUs; M

nghUs; N		 		

					   

	 Nfs;tp	 epfo;jfT	 vjpu;ghu;f;fg;gl;l Nfs;tp			 

	 150>000	 0.70	 105>000			 

	 260>000	 0.30	 78>000		  	

 	  			   183>000			 

					   

	 xU myfpd; gq;fspg;G	 A	 400 - 230 - 140	 =	      30

	 nkhj;j gq;fspg;G    =	30 * 183>000			   =	 5>490>000

					   

gupe;Jiu:

N fl;lisia jahupf;f Ntz;Lk;> ,J mjpf vjpu;ghu;f;fg;gLk; ,yhgj;ij mspg;gjhy;.

 (nkhj;jk; 10 Gs;spfs;)

Nfs;tp xU myF 
gq;fspg;G                              
(tpw;gid  
tpiy-khWk; fpuak;) 

nkhj;j gq;fspg;G                               epfo;jfT vjpu;ghu;f;fg;gl;l ngWkjp 

10,000 3,000 - 2,800 - 580 =(380) 
 
(380)*10,000   =  

   
(3,800,000) 0.26 

 
(3,800,000)*0.26  

 
=  

       
(988,000)  

20,000 3,000 - 2,600 - 580 =(180) 
 
(180)*20,000   =  

   
(3,600,000)              0.30 

 
(3,600,000)*0.30  

 
=  

   
(1,080,000)  

30,000 3,000-2,300-580=120  120*30,000   =  
      

3,600,000  0.28  3,600,000*0.28  
 

=  
   

1,008,000  

40,000 3,000-2,050-580=370  370*40,000   =  
   

14,800,000  0.16 
 
14,800,000*0.16  

 
=  

   
2,368,000  

        
   

1,308,000  
 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;06

tpdh 6w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;  

	 mj;jpahak; 01 - ghjPl;bd; %yk; jpl;lkplYk; fl;Lg;ghLk;

              (nkhj;jk; 10 Gs;spfs;)
tpdh 7w;fhd ghpe;Jiuf;;fg;gl;l tpilfs; 

	 mj;jpahak; 03 - njhlu;Gila fpuak; - jPu;khdk; vLj;jy;

(a)

2019/20 epjpahz;Lf;fhd njhopw;ghl;L $w;W    &.000 
 
 ghjPL nefpo;T 

ghjPL 
cz;ikahd 

ngWkjp 
Kuz;  

nfhs;tdT/ tpw;gid msT 12,000 11,800 11,800 (200) ghjfk; 

tpw;gidfs; 3,960,000 3,894,000 3,953,000  59,000  rhjfk; 
Neu; nghUs;  (780,000) (767,000) (755,200)  11,800  rhjfk; 
Neu; $yp (1,920,000) (1,888,000) (1,899,800)  (11,800)  ghjfk; 
khWk; cw;gj;jp Nke;jiyfs; (795,000) (781,750) (817,600)  (35,850)  ghjfk; 
khWk; tpw;gid Nke;jiyfs; (140,000) (137,667) (124,200)  13,467  rhjfk; 
epiyahd cw;gj;jp 
Nke;jiyfs; 

(114,000) (114,000) (119,000)  (5,000)  ghjfk; 

epiyahd tpw;gid 
Nke;jiyfs; 

(100,000) (100,000) (100,000) - ghjfk; 

,yhgk; 111,000 105,583 137,200  31,617  rhjfk; 
 
nra;Kiwfs;: 
 
11,800 myFf;fhd epiyahd cw;gj;jp Nke;jiyfs; 
nfhs;tdT/ tpw;gid msT   &. 
tpw;gidfs; 3,960,000/12,000*11,800 3,894,000 
Neu; nghUs;  780,000/12,000*11,800 767,000 
Neu; $yp 1,920,000/12,000*11,800 1,888,000 
khWk; cw;gj;jp Nke;jiyfs; 795,000/12,000*11,800 781,750 
khWk; tpw;gid Nke;jiyfs; 140,000/12,000*11,800 137,667 
epiyahd cw;gj;jp Nke;jiyfs;  114,000 
epiyahd tpw;gid Nke;jiyfs;   100,000 
,yhgk;   105,583 

 
 

nghUs; 

    
Nfs;tp 
(myFfs;) 

%yfk; X ,d; 
Njitg;ghL 

myFfs;(kPl;lu;
) 

nkhj;j 
Njitg;gh

L 
;(kPl;lu;fs;) 

rpwpa 10,000 (100/100)1.00 10,000 
eLj;ju 8,500 (200/100)2.00 17,000 
ngupa 4,200 (275/100)2.75 11,550 
nkhj;j Njitg;ghL (kPl;lu;)     38,550 
nghUs; fpilg;gdT      30,000 
gw;whf;Fiw (kPl;lu;) - X  xU tiuaWf;Fk; 
fhuzp     8,550 
    

nghUs; 

    
Nfs;tp 
(myFfs;) 

%yfk; Y ,d; 
Njitg;ghL 

myFfs;(kPl;lu;
) 

nkhj;j 
Njitg;gh

L 
;(kPl;lu;fs;) 

rpwpa 10,000 0.5 5,000 
eLj;ju 8,500 1 8,500 
ngupa 4,200 1.5 6,300 
nkhj;j Njitg;ghL  (kPl;lu;)     19,800 
nghUs; fpilg;gdT      20,000 
kpif (kPl;lu;) - Y  xU tiuaWf;Fk; 
fhuzp     (200) 

 
 

 rpwpa eLj;ju ngupa 

tpw;gid tpiy (xU myfpd;) 1,000 1,550 2,100 
xU myfpd; khWk; fpuak; (&.)    
%yfk; X 100 200 275 
%yfk; Y 150 300 450 
$yp 450 608 675 
khWk; cw;gj;jp Nke;jiyfs; 120 142 180 
 820 1,250 1,580 
xU myfpw;fhd gq;fspg;G 180 300 520 
    

xU myfpw;fhd nghUs; 
Njitg;ghL  1 kPl;lu; 2 kPl;lu; 2.75 kPl;lu; 
xU %yfj;jpd; gq;fspg;G 180 150 189.09 
cw;gj;jp jutupir 2 3 1 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;07

(04 Gs;spfs;)

(b)

(06 Gs;spfs;)

 (nkhj;jk;  10 Gs;spfs;)

gpupT  B  ,d; epiwT

nghUs; 

    
Nfs;tp 
(myFfs;) 

%yfk; X ,d; 
Njitg;ghL 

myFfs;(kPl;lu;
) 

nkhj;j 
Njitg;gh

L 
;(kPl;lu;fs;) 

rpwpa 10,000 (100/100)1.00 10,000 
eLj;ju 8,500 (200/100)2.00 17,000 
ngupa 4,200 (275/100)2.75 11,550 
nkhj;j Njitg;ghL (kPl;lu;)     38,550 
nghUs; fpilg;gdT      30,000 
gw;whf;Fiw (kPl;lu;) - X  xU tiuaWf;Fk; 
fhuzp     8,550 
    

nghUs; 

    
Nfs;tp 
(myFfs;) 

%yfk; Y ,d; 
Njitg;ghL 

myFfs;(kPl;lu;
) 

nkhj;j 
Njitg;gh

L 
;(kPl;lu;fs;) 

rpwpa 10,000 0.5 5,000 
eLj;ju 8,500 1 8,500 
ngupa 4,200 1.5 6,300 
nkhj;j Njitg;ghL  (kPl;lu;)     19,800 
nghUs; fpilg;gdT      20,000 
kpif (kPl;lu;) - Y  xU tiuaWf;Fk; 
fhuzp     (200) 

 
 

 rpwpa eLj;ju ngupa 

tpw;gid tpiy (xU myfpd;) 1,000 1,550 2,100 
xU myfpd; khWk; fpuak; (&.)    
%yfk; X 100 200 275 
%yfk; Y 150 300 450 
$yp 450 608 675 
khWk; cw;gj;jp Nke;jiyfs; 120 142 180 
 820 1,250 1,580 
xU myfpw;fhd gq;fspg;G 180 300 520 
    

xU myfpw;fhd nghUs; 
Njitg;ghL  1 kPl;lu; 2 kPl;lu; 2.75 kPl;lu; 
xU %yfj;jpd; gq;fspg;G 180 150 189.09 
cw;gj;jp jutupir 2 3 1 

 

nghUs; 

    
Nfs;tp 
(myFfs;) 

%yfk; X ,d; 
Njitg;ghL 

myFfs;(kPl;lu;
) 

nkhj;j 
Njitg;gh

L 
;(kPl;lu;fs;) 

rpwpa 10,000 (100/100)1.00 10,000 
eLj;ju 8,500 (200/100)2.00 17,000 
ngupa 4,200 (275/100)2.75 11,550 
nkhj;j Njitg;ghL (kPl;lu;)     38,550 
nghUs; fpilg;gdT      30,000 
gw;whf;Fiw (kPl;lu;) - X  xU tiuaWf;Fk; 
fhuzp     8,550 
    

nghUs; 

    
Nfs;tp 
(myFfs;) 

%yfk; Y ,d; 
Njitg;ghL 

myFfs;(kPl;lu;
) 

nkhj;j 
Njitg;gh

L 
;(kPl;lu;fs;) 

rpwpa 10,000 0.5 5,000 
eLj;ju 8,500 1 8,500 
ngupa 4,200 1.5 6,300 
nkhj;j Njitg;ghL  (kPl;lu;)     19,800 
nghUs; fpilg;gdT      20,000 
kpif (kPl;lu;) - Y  xU tiuaWf;Fk; 
fhuzp     (200) 

 
 

 rpwpa eLj;ju ngupa 

tpw;gid tpiy (xU myfpd;) 1,000 1,550 2,100 
xU myfpd; khWk; fpuak; (&.)    
%yfk; X 100 200 275 
%yfk; Y 150 300 450 
$yp 450 608 675 
khWk; cw;gj;jp Nke;jiyfs; 120 142 180 
 820 1,250 1,580 
xU myfpw;fhd gq;fspg;G 180 300 520 
    

xU myfpw;fhd nghUs; 
Njitg;ghL  1 kPl;lu; 2 kPl;lu; 2.75 kPl;lu; 
xU %yfj;jpd; gq;fspg;G 180 150 189.09 
cw;gj;jp jutupir 2 3 1 

 

cfe;j cw;gj;jp fyit 
 

nghUs; Nfs;tp 
(myFfs;) 

Efu;T nkhj;j Njitg;ghL  
(kPl;lu;) 

    

rpwpa msT 4,200 2.75 11,550 
eLj;ju msT 10,000 1.00 10,000 
ngupa msT 4,225 2.00 8,450 
%yf fpilg;gdT   30,000 
 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

										          gFjp - C
,uz;L (02) fl;lha tpdhf;fs;.

(nkhj;jk; 50 Gs;spfs;)

tpdh 8w;fhd ghpe;Jiuf;fg;gl;l tpilfs;;; 

(A)
	 mj;jpahak; 06 - %yjd %yq;fSk; %yjdf; fpuaKk;

(a)

(02 Gs;spfs;)

(b)

(02 Gs;spfs;)

(c)

08

rhjhuz gq;fpd; fpuak; =  xU gq;fpd; rhjhuz gq;fpyhgk; 
                          gq;fpd; re;ij tpiy 

Ke 
                 
= D0  

  P0 

Ke = 2.52 x 100 
  14 

Ke = 18%  
 
 
 
 
 
 
kPl;fjF Kd;Dupik 
gq;F = gq;fpyhgk; 

 

  

gq;fpd; re;ij 
tpiy  

 
 

Kp =             D0 
 

              P0 
Kp =            1.5 

x 100 
             12 
Kp =           12.5%  
 
 
 

fld; gj;jpu fpuak;: 
   

tpguk; fhRg;gha;r;ry; fopTf;f
huzp  

@ 10% 

jw;Nghija 
ngWkjp 

fopTf;fhuzp 

@ 12% 

 
foptpl 

fhRg;gha;r;ry 

 

fld; gj;jpu 
tpw;gid 90 1 90 1 90 
tl;b 

 {12-(12*28%)} (8.64) 3.791 (32.75) 3.603 
                   

(31.12) 
kPl;fjFjy; (100) 0.621 (62.1)  0.567 (56.1) 
  NPV (4.85)  2.18 

rhjhuz gq;fpd; fpuak; =  xU gq;fpd; rhjhuz gq;fpyhgk; 
                          gq;fpd; re;ij tpiy 

Ke 
                 
= D0  

  P0 

Ke = 2.52 x 100 
  14 

Ke = 18%  
 
 
 
 
 
 
kPl;fjF Kd;Dupik 
gq;F = gq;fpyhgk; 

 

  

gq;fpd; re;ij 
tpiy  

 
 

Kp =             D0 
 

              P0 
Kp =            1.5 

x 100 
             12 
Kp =           12.5%  
 
 
 

fld; gj;jpu fpuak;: 
   

tpguk; fhRg;gha;r;ry; fopTf;f
huzp  

@ 10% 

jw;Nghija 
ngWkjp 

fopTf;fhuzp 

@ 12% 

 
foptpl 

fhRg;gha;r;ry 

 

fld; gj;jpu 
tpw;gid 90 1 90 1 90 
tl;b 

 {12-(12*28%)} (8.64) 3.791 (32.75) 3.603 
                   

(31.12) 
kPl;fjFjy; (100) 0.621 (62.1)  0.567 (56.1) 
  NPV (4.85)  2.18 

rhjhuz gq;fpd; fpuak; =  xU gq;fpd; rhjhuz gq;fpyhgk; 
                          gq;fpd; re;ij tpiy 

Ke 
                 
= D0  

  P0 

Ke = 2.52 x 100 
  14 

Ke = 18%  
 
 
 
 
 
 
kPl;fjF Kd;Dupik 
gq;F = gq;fpyhgk; 

 

  

gq;fpd; re;ij 
tpiy  

 
 

Kp =             D0 
 

              P0 
Kp =            1.5 

x 100 
             12 
Kp =           12.5%  
 
 
 

fld; gj;jpu fpuak;: 
   

tpguk; fhRg;gha;r;ry; fopTf;f
huzp  

@ 10% 

jw;Nghija 
ngWkjp 

fopTf;fhuzp 

@ 12% 

 
foptpl 

fhRg;gha;r;ry 

 

fld; gj;jpu 
tpw;gid 90 1 90 1 90 
tl;b 

 {12-(12*28%)} (8.64) 3.791 (32.75) 3.603 
                   

(31.12) 
kPl;fjFjy; (100) 0.621 (62.1)  0.567 (56.1) 
  NPV (4.85)  2.18 
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	 fld; gj;jpu fpuak; 	 =	 12% - [(2% / 7.03) x 2.18]
					     =   	 11.38%

(03 Gs;spfs;)

(d)

(03 Gs;spfs;)

(B)
	 mj;jpahak; 05 - KjyPl;L kjpg;gha;T

(a)

(13 Gs;spfs;)

(b)
Gjpa ,ae;jpuj;ij &. 1>042>000 Neu; NPV I cUthf;Ftjhy; mij thq;f gupe;Jiuf;fg;gLfpwJ.

(02 Gs;spfs;)

(nkhj;j 25 Gs;spfs;)

re;ij ngWkjpiag; gad;gLj;jp epiwNaw;wpa ruhrup %yjdf; fpuak; (WACC): 
 
Kyk;  re;ij ngWkjp 

(&.’000) 
epiwNaw;wk; 

(%) 
%yjdf; fpuak; WACC 

  (%) A) 
rhjhuz gq;F 210,000 71.4 18 12.85 
Kd;Dupik gq;F 12,000 4.1 12.5 0.5 
fld; gj;jpuk; 72,000 24.5 11.38 2.79 
 294,000   16.14 

 

 
     

& “000” 
  0 1 2 3 4 5 
KjyPL (34,000)        -                -              -               -         1,400  
tpw;gid  -   12,113  16,218     19,278    19,635      20,171  
khWk; fyit fpuak;   -     (152)   (192)    (224)     (224)      (224) 
cw;gj;jp rhuhj epu;thf 
fpuak;  

 -   (3,634)  (4,866)   (5,784)  (5,891)   (6,052) 

epiyahd guhkupg;G fpuak;   -  (1,900)  (1,900)  (1,900)  (1,900)    (1,900) 
tUkhd tup (nra;Kiw -1)  -        622   (228)         861      (936)    (7,918) 
epfu fhRg;ghr;ry;  (34,000)   7,049  9,032   10,509   10,684  18,477  
fopTf;  fhuzp 14%            1    0.877  0.769      0.675     0.592   0.519  
epfu jw;Nghija kjpg;G 
NPV 

(34,000)    6,182  6,945      7,094     6,325    9,589  

NPV= 2,135,000       
       
nra;Kiw -1       

  1 2 3 4 5  
tup tpjpf;ff;$ba tUkhdk; 12,113 16,218 19,278 19,635 20,171  
nryTfs;  (5,686)  (6,958)  (7,908)  (8,015)  (8,176)  
%yjd nfhLg;gdTfs; (8,500) (8,500)  (8,500)  (8,500)  -   
mfw;wy; tpw;gid  - - - - 14,400  
tup nrYj;jf;$ba ,yhgk;      

(2,073) 
          

760  
          

2,870  
          

3,120  
        

26,395   
tUkhd tup @ 30% 622  228  861  936  7,918   
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tpdh 9w;fhd ghpe;Jiuf;fg;gl;l tpilfs;;; 

(A)
	 mj;jpahak; 03 - njhlu;Gila fpuak; - jPu;khdk; vLj;jy;

	 ntsp%ykplg;gbd;	 &.

	 ntsp%ykplg;gbd; fpuak; (16,000 units * Rs. 680/-)	      (10>880>000)

	 fpua Nrkpg;Gf;fs;:	  

	 Neu; %yg;nghUs; (16>000 * 240)	 3>840>000

	 Neu; $yp (16>000 * 280)	 4>480>000

	 khWk; cw;gj;jp fpuak; (16>000 * 48)	 768>000

	 khWk; nghjpaply; fpuak; (16>000 * 30)	 480>000

	 khWk; tpw;gid kw;Wk; tpNahf nryTfs;	 -

	 tUlhe;j epiyahd cw;gj;jp fpuak;	 -

	 epiyahd tpw;gid kw;Wk; tpNahf nryTfs;	 750>000

 			   (562>000)

epWtdj;jpDs; jahupg;gij ntspKly; cld; xg;gpLifapy; Mz;Lf;F &. 562>000 

Nrkpf;fg;gLtjhy; jahupg;G x epWtdj;jpDs; jahupg;gijgupe;Jiuf;fg;gLfpwJ.

  (08 Gs;spfs;)

(B)	 (a)	

	 mj;jpahak; 02 - cau; Kuz;fspDlhf jpl;lkplYk; fl;Lg;gLj;jYk;

	 i.

  (04 Gs;spfs;)

10

Neu; %yg;nghUs; 
fyit Kuz;  
 

= 
 
 

%yg;nghUspd; epak tPjk; *(nkhj;j 
cz;ikahd gad;ghL  - epak fyit)-
(nkhj;jk;  cz;ikahd gad;ghL  * 
cz;ikahd fyit) 
 

 
 
 

 
 
 

A %yg;nghUs; = =250*{[(52,680+4,080) kg *(3/3.25)]-
[(52,600+4,080) kg*(52,600/(52,600+4,080))]} 
 
=250 *(52,394-52674) 

(70,000) ghjfk;; 
 

B %yg;nghUs; 
 

 
= 

=700*{[(52,600+4,080)kg*(0.25/3.25)]-
[(52,600+4,080)kg *4,080/(52,600+4,080)  
=700*(4,360-4,080) 

196,000   
rhjfk; 

nkhj;jk;    126,000 rhjfk; 

 
Neu; %yg;nghUs; 
tpisT Kuz;  
 

= 
 
 

epak tPjk; *[(nkhj;j   cz;ikahd 
gad;ghL  - epak fyit)-( nkhj;j  
cz;ikahd gad;ghL  * epak fyit)] 
 

 
 
 

 
 
 

A %yg;nghUs; = =250*{[(3+0.25)kg*16,700units) *(3/3.25)]-
[(52,600+4,080)hrs * (3/3.25)]} 
=250*(50,100-52,320) 

(555,000) ghjfk; 

B %yg;nghUs; 
 

 
= 

 
=700*{[(3+0.25)kg *16,700 units) * (0.25/3.25)]-
[(52,600+4,080)hrs *0.25/3.25)]} 
=700*(4,175-4,360) 

 
(129,500) 

 
ghjfk; 
 

nkhj;jk;    (684,500)  
ghjfk; 

 
Neu; %yg;nghUs; 
tpiy Kuz;  
 

= 
 
 

gad;gLj;jg;gLk; %yg;nghUs; msT * (epak 
tpiy-cz;ikahd tpiy) ; 
 

 
 
 

 
 
 

jpwd; kpf;f $yp = ={52,600 kg * [250-(12,361,000/52,600kg)]}      
789,000  

ghjfk; 
 

jpwdw;w $yp  
 

= ={4,080kg* [700-((2,917,200/4080kg)]}             
(61,200) 

 
ghjfk; 
 

nkhj;jk;    727,800 rhjfk; 
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gpupT  C  ,d; epiwT

Neu; %yg;nghUs; 
fyit Kuz;  
 

= 
 
 

%yg;nghUspd; epak tPjk; *(nkhj;j 
cz;ikahd gad;ghL  - epak fyit)-
(nkhj;jk;  cz;ikahd gad;ghL  * 
cz;ikahd fyit) 
 

 
 
 

 
 
 

A %yg;nghUs; = =250*{[(52,680+4,080) kg *(3/3.25)]-
[(52,600+4,080) kg*(52,600/(52,600+4,080))]} 
 
=250 *(52,394-52674) 

(70,000) ghjfk;; 
 

B %yg;nghUs; 
 

 
= 

=700*{[(52,600+4,080)kg*(0.25/3.25)]-
[(52,600+4,080)kg *4,080/(52,600+4,080)  
=700*(4,360-4,080) 

196,000   
rhjfk; 

nkhj;jk;    126,000 rhjfk; 

 
Neu; %yg;nghUs; 
tpisT Kuz;  
 

= 
 
 

epak tPjk; *[(nkhj;j   cz;ikahd 
gad;ghL  - epak fyit)-( nkhj;j  
cz;ikahd gad;ghL  * epak fyit)] 
 

 
 
 

 
 
 

A %yg;nghUs; = =250*{[(3+0.25)kg*16,700units) *(3/3.25)]-
[(52,600+4,080)hrs * (3/3.25)]} 
=250*(50,100-52,320) 

(555,000) ghjfk; 

B %yg;nghUs; 
 

 
= 

 
=700*{[(3+0.25)kg *16,700 units) * (0.25/3.25)]-
[(52,600+4,080)hrs *0.25/3.25)]} 
=700*(4,175-4,360) 

 
(129,500) 

 
ghjfk; 
 

nkhj;jk;    (684,500)  
ghjfk; 

 
Neu; %yg;nghUs; 
tpiy Kuz;  
 

= 
 
 

gad;gLj;jg;gLk; %yg;nghUs; msT * (epak 
tpiy-cz;ikahd tpiy) ; 
 

 
 
 

 
 
 

jpwd; kpf;f $yp = ={52,600 kg * [250-(12,361,000/52,600kg)]}      
789,000  

ghjfk; 
 

jpwdw;w $yp  
 

= ={4,080kg* [700-((2,917,200/4080kg)]}             
(61,200) 

 
ghjfk; 
 

nkhj;jk;    727,800 rhjfk; 

 

Neu; %yg;nghUs; 
fyit Kuz;  
 

= 
 
 

%yg;nghUspd; epak tPjk; *(nkhj;j 
cz;ikahd gad;ghL  - epak fyit)-
(nkhj;jk;  cz;ikahd gad;ghL  * 
cz;ikahd fyit) 
 

 
 
 

 
 
 

A %yg;nghUs; = =250*{[(52,680+4,080) kg *(3/3.25)]-
[(52,600+4,080) kg*(52,600/(52,600+4,080))]} 
 
=250 *(52,394-52674) 

(70,000) ghjfk;; 
 

B %yg;nghUs; 
 

 
= 

=700*{[(52,600+4,080)kg*(0.25/3.25)]-
[(52,600+4,080)kg *4,080/(52,600+4,080)  
=700*(4,360-4,080) 

196,000   
rhjfk; 

nkhj;jk;    126,000 rhjfk; 

 
Neu; %yg;nghUs; 
tpisT Kuz;  
 

= 
 
 

epak tPjk; *[(nkhj;j   cz;ikahd 
gad;ghL  - epak fyit)-( nkhj;j  
cz;ikahd gad;ghL  * epak fyit)] 
 

 
 
 

 
 
 

A %yg;nghUs; = =250*{[(3+0.25)kg*16,700units) *(3/3.25)]-
[(52,600+4,080)hrs * (3/3.25)]} 
=250*(50,100-52,320) 

(555,000) ghjfk; 

B %yg;nghUs; 
 

 
= 

 
=700*{[(3+0.25)kg *16,700 units) * (0.25/3.25)]-
[(52,600+4,080)hrs *0.25/3.25)]} 
=700*(4,175-4,360) 

 
(129,500) 

 
ghjfk; 
 

nkhj;jk;    (684,500)  
ghjfk; 

 
Neu; %yg;nghUs; 
tpiy Kuz;  
 

= 
 
 

gad;gLj;jg;gLk; %yg;nghUs; msT * (epak 
tpiy-cz;ikahd tpiy) ; 
 

 
 
 

 
 
 

jpwd; kpf;f $yp = ={52,600 kg * [250-(12,361,000/52,600kg)]}      
789,000  

ghjfk; 
 

jpwdw;w $yp  
 

= ={4,080kg* [700-((2,917,200/4080kg)]}             
(61,200) 

 
ghjfk; 
 

nkhj;jk;    727,800 rhjfk; 

 

	 ii.

(04 Gs;spfs;)

	 iii.

(03 Gs;spfs;)

(b)
	 mj;jpahak; 02 - cau; Kuz;fspDlhf jpl;lkplYk; fl;Lg;gLj;jYk;

(06 Gs;spfs;)
                (Nkhj;jk;  25 Gs;spfs;)

njhopw;ghl;L;f; $w;W     
ghjpl;l gq;fspg;G 4,300*895/-   3,848,500 
tpw;gid vy;iy fdtsT Kuz;    71,600 
cz;ikahd tpw;gidapyhd ghjPl;l 
gq;fspg;G 

   3,920,100 

khWk; fpuak;  ghjfk; rhjfk;  
tpw;gid tpiy Kuz;  219,000   
Neu; nghUs; tpiy Kuz;   356,000  
Neu; nghUs; ghtid Kuz;  182,000   
Neu; $yp tpfpj Kuz;    120,250  
Neu; $yp fyit Kuz;  
 

  123,200  

Neu; $yp tpisT Kuz;  
 

 156,800   

khWk; Nke;jiy nrytpd Kuz;  70,500   
khWk; Nke;;;jiy tpidj;j;pwd; ; Kuz;  77,000   
nkhj;j  khWk; fpuak;  705,300 599,450 (105,850) 
cz;ikahd gq;fspg;G    3,814,250 
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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